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PhenoData day range = 10 - 62
Analysis cutoff day = 62

NC11 P10

2025-06-02 (Day 63)

page



P10AE

TrussNodeMaxPerStem (Def=6.0 Set=6)

ISR g2

| pagel

1 2 3 4 5
Object Number




P10AE

FruitNumAvgPerTruss (Def=15 Set=4)
avgl=4.0~21% avg2=na

FruitNumMaxPerTruss (Def=na Set=7)

avgl=7.0~21% avg2=na

16 P1OAE TrimFpuit
7@ ——————————————— - - --—--
14 -
6_
12 -
5 o
10 A
g ° 4 - o) o
6 - ° 37
o
4+--—a 09— —-06E — 085 — 09— - 2 -
o
2 A (] 14
0 - e
0 5 10 15 20 25 0 5 10 15 20 25

Object Number

Object Number



P10AE

FrV_avgAbsY (Def=na Set=79.65)
avgl=79.65~13% avg2=na

100 - +
80 __t_"_.""+""+_""+""

60 - +

40 A
20 A
0 .
0 10 20 30 40
Object Number
NdL Q90AbsY (Def=5 Set=5.06)
avgl=5.06~7% avg2=na
lo. - -
¢ (]
4
2 -
0 -
0 10 20 30 40

Object Number

FrV_Q90AbsY (Def=179.5 Set=87.07)
aPI DAY PReRYSter2=na

150 A
100 A Py
i S
50 A
0 -
0 10 20 30 40
Object Number
FrD_avgAbsY (Def=na Set=53.35)
avgl=53.35~4% avg2=na
60 -
_.____..___‘____._____..____
40
20 A
0 -
0 10 20 30 40

Object Number

LfA_Q90AbsY (Def=0.04 Set=0.04)
avgl=0.05~7% avg2=na

o
0.06 A
I P o ____
0.04 °
0.02 ~
0.00 A
0 10 20 30 40
Object Number
NdD_avgAbsY (Def=na Set=14.23)
avgl=14.23~12% avg2=na
L
151 __e@_ _______ . -
® [
o ® o
10 A
5 -
dage 1 ¢
0 10 20 30 40

Object Number



LfL_avgAbsY (Def=na Set=34.2)
avgl=34.2~15% avg2=na

a0{ © ® o
N ~—-——-0p
o
20 A ¢
10 A
04
0 10 20 30 40

Object Number

LfW_Q90AbsY (Def=30 Set=42.6)
avgl=42.6~4% avg2=na

[
40®TTT®TTTTITTT O-===- T
20 -

O_
0 10 20 30 40

Object Number

NdL _avgAbsY (Def=na Set=4.97)
PDOAER. Phedio Srae=na

o
8 -
61 ®
R A — -
4 ®oe
2 .
0 .
0 10 20 30 40
Object Number
NdD_Q90AbsY (Def=18 Set=15.35)
avgl=15.35~4% avg2=na
R et
o
10 A
5 -
O -
0 10 20 30 40

Object Number

LfL Q90AbsY (Def=40 Set=35.5)
avgl=35.5~10% avg2=na

40 o )
-———————————————— - --—-
30 - o
20
10 -
0_
0 10 20 30 40

Object Number

LfW_avgAbsY (Def=na Set=41.05)
avgl=41.05~25% avg2=na

[ )
[ ) Y [
| g@-—p----F__O ___
40 @ ® ° °
®
o ®
20 - g
[ )
Hape 2
0 10 20 30 40

Object Number



LfA_avgAbsY (Def=na Set=0.05)
avgl=0.05~35% avg2=na

o
0.06 A ¢ o
IPORN—— S
0.04 -
® [
0.02 A hd
[
0.00 A
0 10 20 30 40
Object Number
NdV_Q90AbsY (Def=12.72 Set=12.72)
avgl=8.68~5% avg2=na
10 - ¢
O mm e - ---—g-—--
[ ]
5 -
@Hage 3
0 10 20 30 40

Object Number

FrD_Q90AbsY (Def=70 Set=55.0)
PRIABEFPheitoSTIR=n2

60 B0y -8 ——— o
40 -
20 -
0_
0 10 20 30 40

Object Number

NdV_avgAbsY (Def=na Set=8.39)
avgl=8.39~22% avg2=na

[ )
10.0 - ¢ ¢
Y . SNNPY G
7.5 -
o © ¢ °
5.0 - °
2.5 -
0.0 - o
0 10 20 30 40

Object Number



30 A

20 A

10 A

P10AE-063-19 (fit failed)

BDL [0.57, 0.21, 26.92, Z;ﬂi’a/
ﬁ

./JZA
j

------- = W= W S

30 A

20 A

10 -

0 2IO 4IO 6IO
P10AE-103-17 (fit failed)

BDL [0.74, 2.2, 26.98, 0.99] /

30 A

PLOAE-QN@§ND (fit failed)

BDL [0.58, 0.1, 26.24, 1.0] /
20 - —
&
10 - / -~
0
-1 T

0 2IO 4I0
P10AE-116-21 (fit failed)

60

30 A BDL [0.63, 10.48, 4.55, 1.0]
o r/
10 . <
0
OOQQG_L____::___/'_’\__F/_\__)(:/}Y__.__
'1 T T T T
0 20 40 60

30 A

P10AE-089-22 (fit failed)

BDL [0.54, 4.96, 10.61, 1.0] L&
20 - T o
10 1 Vﬁf
0
0 ________th{\traqt__
'1 T T T T
0 20 40 60



P10AEav<7;q flt failed)

30 - BDL [0.58, 6.44, 10. 59 0.99]




P10AE

a (Def=0.56 Set=0.58)
avgl=0.61(fail) avg2=0.58

0.8 A
0.7 1
0.6 1

0.5 1
0.4 1
0.3 A
0.2
0.1
0.0 A

0 2 4 6

Object Number

dm (Def=2 Set=6.44)

VO S RE N AR 9204

Object Number

de (Def=5 Set=10.59)
avgl=19.06(fail) avg2=10.59

25 A

20 A

15 A

10 A

0_

Object Number




P10AE

InitDev_dm (Def=2 Set=6.44)

avgl=6.44~0% avg2=6.44

P10,

8_

- ——@—— - —— 8 ————— - ---
6_
4 -
2
0_

0 2 4 6

Object Number

InitDev_de (Def=5 Set=10.59)
avgl=10.59~0% avg2=10.59

Q\L
<

E I
12 A

10 -

A4

page 1

Object Number



P10AE-063-19

20 A
15 A
10 -

Linear [0.44, 4.29, -9.75, 1.0]

adil

2I0 4IO
P10AE-103-17

30 A

Linear [0.56, 4.17, -7.44, 0.98]

P1AR-076-5
Linear [0.44, 4.78, -10.89, 0.99]
] //
_of
&
7] /'j
0]
0f--mmmmmm-- A =
'1 T T T T
0 20 40 60
P10AE-116-21
Linear [0.48, 3.62, -7.5, 1.0]
20 %//a
"
_o®
10 7 P g
- 7
0
Paeel -L\zﬁ\..‘___/j_ -
_1 T T T
0 20 40 60

P10AE-089-22

Linear [0.4, 5.55, -13.9, 1.0]

20 - .
15 + od
10 A &

5 ="

0]

oOp—————m——r— -—\:\-_—f\—_y_—/—j}—"—
'1 T T T T

0 20 40 60



Pl?_ﬁl?avg

25 A

Linear [0.46, 4.61, -9.99, 1.0] o




P10AE

a (Def=0.42 Set=0.46)

avgl=0.4§11~8’Z%a}i?ﬁ=0.46~4%

0.6 -

0.5 1

0.4

0.3

0.2 A

0.1 1

0.0 A

page 1

= 4

3 4
Object Number

5




P10AE

By Start Date

'1.0 T T T T T T
30 35 40 45 50 55

1.0

'1.0 T T T T T T
30 35 40 45 50 55

LfN

By Plant/Organ Age

1.0

0.5 1

0.0 A

-0.5 A

-1.0

0 10 20 30 40 50

1.0

0.5 1

-0.5 A

-1.0

0 10 20 30 40 50



P10AE-063-19 P1&AE-076-5 P10AE-089-22

Linear [3.27, -19.51, 5.98, 0.98] 150 4 Linear [3.05, -18.0, 5.9, 0.98] Linear [3.24, -15.51, 4.78, 0.99]
150 A 150 A
v 100 A 7 f

100 A & 100 A

'1 T T T T '1 T T T T '1 T T T T
0 20 40 60 0 20 40 60 0 20 40 60
P10AE-103-17 P10AE-116-21
Linear [3.32, -16.47, 4.96, 0.99] Linear [3.25, -13.56, 4.17, 0.99]
150 ~ 150 A
100 A 2 100 A

50 - - 50 - /
0 / 0




P10AE

a (Def=3 Set=3.25)

VO PIRE S9N

3.5 1
3.0

2.5 A
2.0 1
1.5~
1.0 A
0.5 A
0.0 A

page 1

2

3

4

Object Number




P10AE

StH

By Start Date By Plant/Organ Age
1.0 y 1.0 y g g

Ty 25 30 35 40 45 50 55 60 00 10 20 30 40 50 60
1.0 1.0
0.5 1
082 ]
-0.5 1
‘1.0 . . . . . . . . . -1.0 . . . . . .

20 25 30 35 40 45 50 55 60 0 10 20 30 40 50 60



P10AE-063-19 P1GAR-076-5 P10AE-089-22

Linear [0.15, -0.92, 6.12, 0.99] Linear [0.14, -0.85, 6.06, 0.99]

Linear [0.16, -0.99, 6.34, 1.0]

e

&
--------------- 4-—-\---.[:-- B
T T T T '1 T T T T '1 T T T T
0 20 40 60 0 20 40 60 0 20 40 60
P10AE-103-17 P10AE-116-21

Linear [0.17, -1.17, 6.82, 1.0] Linear [0.18, -1.11, 6.33, 1.0]
/ 6 N //

/ 2 /
at 0 p
I :7=,--D_—_ — 5 P ey N .
T T T T _1 T T T T



Pl%ﬁavg

Linear [0.16, -0.91, 5.88, 1.0]




P10AE

a (Def=0.14 Set=0.16)
avgl=0.1l§_rr?Zo':a¥g%=O.l6~4%

0.175 A
0.150 -

0.125 ~
0.100 A
0.075 A
0.050 A
0.025 A
0.000 -

page 1

1 2 3 4 5 6

Object Number




P10AE

TsN

By Start Date By Plant/Organ Age

1.0 1.0

O 25 30 35 40 45 50 55 60 00 10 20 30 40 50 60
1.0 1.0
0.5 1
082 ]
-0.5 1
‘1.0 . . . . . . . . -1.0 . . . . . .

25 30 35 40 45 50 55 60 0 10 20 30 40 50 60



UF

UF

P10AE-063-19T1 (fit failed)

3.0 A

2.5 A

2.0 1

1.5

1.079

0.5 A

0.0

27.0

27.5 28.0 28.5 29.0

P10AE-063-19T4

Linear [0.41, -14.1, 34.55, 0.98]

2IO 4IO
P1OAE-076-5T3

Linear [0.54, -16.94, 31.53, 0.97]

P10AE-063M9T2 (fit failed)

0

38.0

38.5 39.0 39.5 40.0

P10AE-076-5T1

Linear [0.65, -9.08, 13.96, 0.98]

1IO 2IO 3IO
P1OAE-076-5T4 (fit failed)

3.0 A

2.5 A

2019

1.5~

1.0 A

0.5 1

0.0

58 59 60 61 62

1

UF

P10AE-063-19T3

0.0 -

7.5 1

5.0 A

2.5

0.0

Linear [0.69, -21.38, 30.96, 1.0]

2IO 4I0
PLOAE-076-5T2

Linear [0.84, -20.49, 24.35, 0.99]

2I0 3I0
P1OAE-089-22T1

10 40 50

10

Linear [1.08, -18.46, 17.04, 0.96]




page 2

UF

UF

P10AE-089-22T2

Linear [0.61, -12.57, 20.64, 1.0]

0 10 2IO 3I0 40
P10AE-103-17T1

Linear [0.62, -8.67, 13.88, 0.97]

TSR ISR S I -

(I) 1IO 2I0 30 4IO
P1OAE-103-17T5 (fit failed)

2.0 A

1.5 A

1.019©

0.5 A

0.0

58 59 60 61 62

P10AE-089bYT3 (fit failed)

0

50.0 50.5 51.0 51.5 52.0

4 -

P10AE-103-17T3 (fit failed)

46 47 48 49 50
P10AE-116-21T1

10 -

Linear [1.32, -20.02, 15.19, 0.98]

UF

P10AE-089-22T4

6 - Linear [0.41, -14.1, 34.55, 0.98]

0 2|0 4|0 6|0
P10AE-103-17T4 (fit failed)
4 A @

o T T T

52 54 56
P10AE-116-21T2 (fit failed)

4 1 $

58

35 36 37 38



page 3

0

P10AE-116-21T3 (fit failed)

44.0

44.5

45.0

45.5

46.0

UF

P10AEN16-21T4

Linear [0.55, -18.61, 33.73, 1.0]

P10AE-116-21T5 (fit failed)

2.0 A

1.5 A

1.049

0.5 A

0.0

58 59 60 61 62




P10AE

1.4
1.2
1.0
0.8
0.6
0.4
0.2
0.0

a (Def=0.45 Set=0.62)

avgl=8.161?szé3:_/3l\qv92=na

10

4 6 8
Object Number

10

12



P10AE

By Start Date

1.0

0.5 1

0.0

-0.5 A

-1.0

30

35

40

45

50

55

60

1.0

0.5 1

0.0

-0.5 A

-1.0

30

35

40

45

50

55

60

FrN

By Plant/Organ Age

1.0

0.5 1

0.0

-0.5 A

-1.0

15

20

25

30 35 40

-0.5 A

-1.0

15

20

25

30 35 40



P10AE-063-19T1Frl P10AEM¥3-19T1Fr5 P10AE-063-19T2Frl (fit failed)

of g 0.4 - Beta$S [0.44, 33.23, 10.84, 15.93, 1.9] - 0.12 @
i £ Jo
0-4 A 0.31 / 0.10 A
Beta$S [0.56, 23.11, 19.34, 13.99, 0.99] i P
0.2 ¢ 0.08 - o
0.2 N (/ Y
" . 0.1 Py 0.06 -
- of
QO@& P
0.0 0.0 0.04 e
5 0 fp————————— ——r e -[\— -- 0.02 -
O
'1 T T T '1 T T T 0.00 (R T T T T T
0 20 40 60 0 20 40 60 38. 40 42 44 46 48
P10AE-063-19T2Fr5 (fit failed) P10AE-063-19T3Frl (fit failed) P10AE-063-19T3Fr5 (fit failed)
0.12
BetaS [3.82, 39.5, 41.22, 44.79,1.0] /| 0-175 1 ® ¢
0.4 '@' 0.150 + 0.10 -
@' 0125 . 0.08 -
0.2 1 ( 0.100 -
o 0.06 1
e 0.075 o
0.0 — 0.04 o
0.050 +
L
5 0 f-—mm = ) 155 _ . 0.02 -
e} o
14 . . 0.000 t=—2% . . 0.00 L% . . . . .
0 20 40 60 50 55 60 52 54 56 58 60 62
P10AE-063-19T4Frl (fit failed) P10AE-063-19T4Fr5 (fit failed) P10AE-076-5T1Frl (fit failed)
0.07 - ® 10.012 + ) o)
0.06 - 0.010 0.20 -
0.051 0.008 - 0.15
0.04 A O
0.006 A
0.03 A 0.10 A
0.004 - N
0.02 A P> 005
1 .05 &
0.01 il 0.002 A R
O @
0.00 —+ T T T — 0.000 — T T T T 0.00

54 56 58 60 62 58 59 60 61 62 27.5 30.0 325 35.0 375



P10AE-076-5T1Fr5

0.3 1

0.2

0.1

0.0

BetaS [0.31, 26.95, 16.7, 9.1, 1.0]

20 40

60
P10AE-076-5T3Frl (fit failed)

0.04 A

0.03 -

0.02 ~

0.01 A

0.00 -+

@

O

o

50

5I2 5I4 5I6 5I8
P10AE-089-22T1Fr1

0.00

0.4 1

0.2

BetaS [0.52, 24.5, 19.05, 10.01, 1.0] ¥~

0.6

0.4 1

0.2

P10AE-0768Y2Fr1 (fit failed)

Beta$S [5.18, 40.0, 39.51, 29.83, 1.0]

0.0

4I0
P1OAE-076-5T3Fr5 (

60
fit failed)

0.06 A

0.05 ~

0.04 ~

0.03 A

0.02 A

0.01 ~

0

5I8
P10AE-089-22T1Fr5

0.000

0.4 -
0.3 A
0.2 A
0.1 A

BetaS [0.55, 37.0, 14.32, 13.81, 1.0]

0.0

0.35 A
0.30 A

0.25 A
0.20 -
0.15 -
0.10 A
0.05 A

P10AE-076-5T2Fr5 (fit failed)

0.00

@

P10AE-076-5T4Frl (

60
fit failed)

0.035 A
0.030 A
0.025 A
0.020 A
0.015 A
0.010 A
0.005 A

@]

P10AE-089-22T2Frl

62

0.8 A

0.6 A

0.4 4

0.2 A

Beta$S [0.95, 40.23, 11.99, 12.4, 1.0]

@

0.0




P10AE-089-22T2Fr5

0.4 1

0.2

BetaS [0.56, 39.95, 13.45, 7.9, 1.0]

2I0 4IO 60
PLOAE-089-22T4Fr1 (fit failed)

0.05 -

0.04 ~

0.03 -

0.02 A

0.01 A

®

©

0.00

5I6 5I8 6IO
P10AE-103-17T1Fr5

54

0.6

0.4

0.2

@

4
4
BetaS [0.57, 31.74, 13.59, 10.73, 1.0]
f

P

¢

P10AE-089-PPM3Fr1 (fit failed)

0.150 A

0.125 ~

0.100 A

0.075 A

0.050 -

0.025 A

0.000

@

O

(] e

50.0

525 550 57.5  60.0
P10AE-089-22T4Fr5 (fit failed)

62.

0.008 A

0.006 A

0.004 -

0.002 -

0.000

a
L 4

O

5I9 6I0 6I1 62
P10AE-103-17T2Fr1

58

0.4

0.2

BetaS [0.52, 38.01, 13.06, 7.69, 1.0] D‘ )

V4
7

“On

0.

0

0

0

0

0

0.

5

P10AE-089-22T3Fr5 (fit failed)

12

.10 A

.08 -

.06 -

.04

.02 A

O

)

O

00

O

LD

50.0

52,5 55.0 57.5 60.0

62I.5
P1OAE-103-17T1Fr1 (fit failed)

0.175 A

0.150 A

0.125 A

0.100 A

0.075 A

0.050 A

0.025 A

0.000

Q

@

O

30.0 325 35.0 375

P10AE-103-17T2Fr5

27.5

0.6 A

0.4 A

BetaS [0.78, 40.5, 13.81, 14.47, 1.0]




P10AE-103-17T3Frl (fit failed)

0.25 A

0.20 -

0.15 ~

0.10 A

0.05 ~

@

@)

@
Q

0.00

@)

o

5IO 5I5 60
P1OAE-103-17T4Fr5 (fit failed)

0.035 A
0.030 A
0.025 A
0.020 A
0.015 A
0.010 -
0.005 A

(@)

O

0.000

58

5I9 6I0 6I1 62
P10AE-116-21T1Fr5

0.6

0.4 1

0.2

BetaS [0.57, 28.93, 15.41, 8.73, 1.0] ©

0.0

UF

P10AE-103-IFM3Fr5 (fit failed)

o

0.12 ~

0.10 A

0.08 -

0.06 A

0.04 A

0.02 -
o

[0 O T

50.0 525 550 57.5 _66.9 62.5
P10AE-103-17T5Fr1 (fit failed)

0.00

0.020 A

0.015 A

0.010 A

0.005 A

0
5I8 5I9 6IO 61
P1OAE-116-21T2Fr1 (fit faile

Beta$S [6.56, 38.96, 32.81, 45.0, 1.0]

0.000

62
d)

J

1.0

0.5

0.0

UF

P10AE-103-17T4Frl (fit failed)

O

0.12 4
0.10 -
0.08 A
0.06
0.04 ¢)
0.02
o
0.00 (Iw T T T T T
52 54 56 58 60 62
P10AE-116-21T1Frl
BetaS [0.49, 28.0, 13.25, 12.33, 1.0]
0.4 /2
J
(0]
0.2 1 /
0.0 r:{,\P@@
5 0 p—————————— e —
'1 T T T T
0 20 40 60
P10AE-116-21T2Fr5
Betas [0.49, 38.0, 13.35, 7.46, 1.0] _/ ’
0.4 + #
0
0.2 - /
2
Py
0.0 acal®”
wopded ]
'1 T T T T
0 20 40 60



page 5

P10AE-116-21T3Frl (fit failed)

0.30 A

0.25 -

0.20 A

0.15 ~

0.10 A

0.05 ~

0.00 —=

(@)

O

0]

()

45

P10AE-116-21T4Fr5 (

50

55

60
fit failed)

0.05 A

0.04 ~

0.03 A

0.02 ~

0.01 v o

(]

0.00 ——
58

59

60

61

62

P10AE-116-PAM'3Fr5 (fit failed)

0.20 A

0.15 A

0.10 A

0.05 A

0.00

PN

o

O

@)

P10AE-116-21T5Fr1 (

50

55

60
fit failed)

0.025 ~

0.020 -

0.015 -

0.010 -

0.005 -

0]

0

0.000

58

59

60

61

62

P10AE-116-21T4Frl (fit failed)

0.035 A
0.030 -
0.025 ~
0.020 A
0.015 -
0.010 A
0.005 -

0.000

@]

[

O
)

52 54 56 58 60 62




P10AE

40 A
30 A
20 A
10 -

0P

Ymax (Def=1 Set=0.53)
avgl=0.53~8% avg2=na

()

T eoyoo-esetooe

5 10 15
Object Number

de (Def=15 Set=10.73)
avgl=10.73~27% avg2=na

0]

ge

5 10 15
Object Number

tb (Def=na Set=na)
avgl PIDAELRN avg2=na

401094 _____ .+_.__.__._.____
o °
30 1 +’. o
20 +
10 +
0 .
0 é 1IO 1I5

Object Number

dm (Def=18 Set=13.45)
avgl=13.45~12% avg2=na

40
¢

30 -

20 - + ® 3
—t=—————- B-g 0009 T-0-0-

1o o s od

0_

0 5 10 15

Object Number



P10AE

By Start Date

1.0

0.5 1

0.0

-0.5 A

-1.0

30 35 40 45 50

55

60

1.0

0.5 1

0.0

-0.5 A

-1.0

30 35 40 45 50

55

60

Frv

By Plant/Organ Age

1.0

0.5 1

0.0

-0.5 A

-1.0

15 20 25 30 35

-0.5 A

-1.0

15 20 25 30 35




P10AE-063-19L13 P10AE-063L1AL16 (fit failed) P10AE-063-19L19 (fit failed)

e B (@) 0]

1.00 - /Ajo 1.50 - o 0.6
0.75 - o 1.25 A o 0.5 A
BetaS [1.16, 30.5, 7.27, 12.62, 1.0]
0.50 - 4 1.00 - o 0.4 -
0.25 1 V4 0.75 - @ 0344
0.0Q 0.50 1o 0.2
5 0f—————————————— —==——— 0.25 1 0.1
_1 T T T 0.00 T T T 0.0 T T T T T
0 20 40 60 50 55 60 58 59 60 61 62
P10AE-063-19L6 (fit failed) P10AE-063-19L9 P10AE-076-5L11
2.0 e ® ol®
0.6 - 50 »° l o8
Py ooou.‘f Lo QCF@@‘E'Q 1.00 T
0.4 4 /,KA A,JT 0.75 1 '
. BetaS [0.62, 4.5, 4.07, 24.62, 0.97] BetaS [1.14, 18.0, 10.72, 6.29, 0.98] BetaS [1.06, 23.5, 4.2, 13.95, 0.99]
', 0.5 - ,(p 0.50 ',5
0.2 - /e V4 /
/ / 0.25 - /
0.0 +—= 0.0 = 0.00
S 0_“““““!:\_LT“T_" 5 0 frmmmmm e e \-‘ {5 O _AY_—"
'1 T T T T '1 T T T T '1 T T T T
0 20 40 60 0 20 40 60 0 20 40 60
P10AE-076-5L15 (fit failed) P10AE-076-5L17 (fit failed) P10AE-076-5L20 (fit failed)
0.6 . C © ?
(@] O
- I 0.5 1 0.8 -
O n
0.4 - 0.4 N 0.6 1
O
0.3 0.3 ® 0
' 0.4 1
0.2 - © 0.24©
0.1 0.1- 0-21
page 1
0.0 T T T T 0.0 0.0 T T T T T

45 50 55 60 50.0 525 55.0 57.5 60.0 625 58 59 60 61 62



P10AE-076-5L7 (fit failed)
Te
mMF ®
0.4 - o
0.2 - /
0' O
Bet:‘slS [0.51, 1.5, 5.46, 23.42, 0.95]
0.0 +—= e
5 0 frmmmmmm et R R
_1 T T T T
0 20 40 60
P10AE-089-22L16 (fit failed)
(]
1.4 - o
1.2 - S
1.0 -
(]
0.8 -
0.6 ®
0.41e
0.2 -
0-0 T T T
50 55 60
P10AE-103-17L10 (fit failed)
_ o000 ©0
1.0 1 £&{5$DD
BetaS [1.17, 20.0, 8.41, 7.04, 0.95]
0.5 J
'O
0.0 <
pagu:é 20 B I A \‘K‘ = —
'1 T T 1 T

UF

P10AREf689-22110

P10AE-089-22L13 (fit failed)

1.5

~aft—ero—
1.5 - g/ﬁf
1.0 - éﬁ” ii
0.5 ,7
Beta$S [1.6‘6, 18.98, 3.6, 19.97, 1.0]
0.0
ode N
'1 T T T T
0 20 40 60
P10AE-089-22L19 (fit failed)
O
0.8
O
0.6
0.4
O
0.2
OO T T T T T
54 56 58 60 62
P10AE-103-17L14 (fit failed)
oo 0—
BetaS [1.22, 2‘5.5, 3.61, 16.67, 0.99]
60

1.0 A

0.5 A

OOC-@:@-.
@

V4

BetaS [1.49, 21.5, 3.6, 19.19, 0.97]

v, L=

0.0

UF

——

_________________ N

(I) 2IO 4IO 60
PL1OAE-089-22L7 (fit failed)

0.8

0.6 1

0.4 1

0.2 1

0.0

£P0peetee—o 2

</
_

a
a
BetaS [0.85, 6.5,
©

5.81, 16.19, 1.0]

UF

2IO 4IO 6IO
P1OAE-103-17L16 (fit failed)

0.30 -

0.25 A

0.20 A

0.15 A

0.10 A

0.05 A

O

O

O

o

O

0.00

50 55 60



P10AE-103-17L19 (fit failed)

0.7 1
0.6 1
0.5 A
0.4 1
0.3 -1
0.2
0.1 1

O

0.0

@

O

Q)

52

54 56 58 60 62
P10AE-116-21L12 (fit failed)

1.00 -
0.75 A
0.50 A
0.25 A

o ®

~O
O
—
v
/
7
/ﬂ

yo)

V4

BetaS [1.11, 28.0, 3.95, 14.73, 0.99]

0.00

UF

——-

Zb 40 60
P1OAE-116-21L21 (fit failed)

0.4 1

0.3 A

0.2 1

0.1

@)

@)

0.0

58

59 60 61 62

P10AE-103144121 (fit failed)

0.4

0.3 1

0.2

0.1 1

0.0

O

)

58

Sb 6b 6& 65
P10AE-116-21L15 (fit failed)

0.7
0.6 1
0.5 A
0.4
0.3
0.2 1
0.1

0.0

o

O

O

45 50 55

0.8 1

0.6

0.4 1

0.2

60
P10AE-116-21L6 (fit failed)

et 8]0
Vadl
w

Beta$S [0.83, 3.5, 3.61, 21.57, 0.97]

0.0

UF

UF

P10AE-103-17L7 (fit failed)

o002
0.6 - JA”O’JJUCF
0.4 - f
0.2 - ¥
BetaS [0.66, 7.0, 7.42, 21.49, 0.99]
0.0 . L
0 ————————-————/\-[\:\i——-l-———
_1 T T T T
0 20 40 60
P10AE-116-21L18 (fit failed)
O
0.8 A o
@]
0.6
O
0.4 A
o
0.2 A
0.0 T T T T T T
50.0 525 55.0 57.5 60.0 62.5
P10AE-116-21L09 (fit failed)
00 0/®
<ﬁﬁpff0
1.0 ﬁ
'O
0.5 T 7
Beta$S [1.23, 18.0, 4.39, 12.99, 0.96]
Olm Vd | -
PAee3 :\T\_T—__
'1 T T T T
0 20 40 60



P10AE

Ymax (Def=1 Set=1.12) tb (Def=na Set=na) dm (Def=12 Set=12)

avgl=1.12~29% avg2=na avgl=PBOSE b % avg2=na avgl=5.74~57% avg2=na
' 5 () ° 10.0 A *
________ 2 __g--Z e — ¢ ¢
1.0 ® '.'l 20 e ---+---- “~p-—w -0 751 o {
o © LAt oL 4 b4 L |- d_L_
© © 5.01 | T )
0541 © 10 1 ¢ 190
¢ ¢ 2.5 1
© 5 ¢
0.0 A 0 A 0.0 -

0.0 25 50 7.5 10.0 125 15.0 0.0 25 50 7.5 10.0 125 15.0 0.0 25 50 7.5 10.0 125 15.0
Object Number Object Number Object Number

de (Def=12 Set=16.19)
avgl=16.19~36% avg2=na

254 o b !

20 )

15_--_..__+__.()- [ S - ____¢___
10- | | —

5 <\> i
Op.‘agel

0.0 2.5 5.0 7.5 10.0 12,5 15.0
Object Number



P10AE

B

y Start Date

1.0

0.5 1

0.0

-0.5 A

-1.0

35

40

45 50

55

60

1.0

0.5 1

0.0

-0.5 A

LN, e

K]

+

4

-1.0

35

40

45 50

55

60

LfA

By Plant/Organ Age

1.0

0.5 1

0.0

-0.5 A

-1.0

15 20 25 30 35 40

15 20 25 30 35 40



FI_ dm (Def=5 Set=5.86)
avgl=5.86~9% avg2=5.74~4%

. ° o
6 _‘---*-*--'h-“--’.---
@ @ ]

< 4
o
—
[a

2 .

0 .

0 10 20 30
Object Number
FrV_de (Def=15 Set=10.73)
avgl=na avg2=na
1.0
0.8
0.6 1
0.4 1
0.2
00 T T T T
0.0 0.2 0.4 0.6 0.8 1.0

Object Number

FI_de (Def=5 Set=5.86)
avgl=5BKOAF RPMg2=5.74~4%

FrV_dm (Def=18 Set=13.45)
avgl=na avg2=na

1.0
o
( o ©
6"---*-*--.h-m--’.--- 0.8 4
L J [ J ]
4 - 0.6
0.4 4
2 -
0.2 4
0 -
T T T 0.0 T T T T
0 10 20 30 0.0 0.2 0.4 0.6 0.8 1.0
Object Number Object Number
FrN_a (Def=0.45 Set=0.74) FSDdevStage (Def=0.01 Set=0.16)
avgl=0.74~49% avg2=0.92~39% avgl=0.16~41% avg2=0.11~67%
2.0 1 . 0.2 o ¢
1.5 * - - —————-8-- €8 ———— -
o ° ¢ P % o ® o
104 ._!._ _______ @ @-- 01~ """ TTmTTmmmTm—- § "o
-8 -9 y————-- R atal o ® o e
0.5 1@ pape 1
®
0.0 A 0.0
0 10 20 30 0 10 20 30

Object Number

Object Number



FGDdevStage (Def=0.7 Set=0.7)

FMBDdevStage (Def=1.3 Set=1.3)

avgl=na avg2=na R Y AR RPHg2=na
1.0 1.0
0.8 A 0.8 A
0.6 0.6
0.4 - 0.4 4
0.2 A 0.2 1
0.0 T T T T 0.0 T T T T
0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.0
Object Number Object Number
FHDdevStage (Def=1.5 Set=1.5) NNgen (Def=10 Set=8)
Lo avgl=na avg2=na avgl=8.0~7% avg2=7.6
' 10
0.8 A
8 === --@=-=-=-@=-c-c--c-c-c-==-=
o L \
0.6 A 6
0.4 1 4
0.2 1 27
@ape 2
0-0 T T T T T T T
0.0 0.2 0.4 0.6 0.8 1.0 0 10 20 30

Object Number

Object Number

FMEDdevStage (Def=1.8 Set=1.8)

avgl=na avg2=na

1.0

0.8 A

0.6 1

0.4

0.2

0.0
0.0

0.2

0.4 0.6
Object Number

0.8

1.0



0.018 ~

0.016 A

0.014 ~

0.012 ~

0.010 ~

54

0.04 ~

0.03 ~

0.02 A

0.01 ~

age=15
—+— avg
\-0
I 5|6 5|8 6|0
d
age=30
—+— avg
40 45 55 60

LfA: avg vs. d at each age group
age=20

0.030 A

0.025 A

0.020 A

0.015 ~

0.010 -

—4— avg

30 35 40 45 50 55 60

age=35

0.045 -
0.040 A
0.035 A
0.030 A
0.025 A
0.020 A

0.015 A

age=25
0.035 —+— avg
0.030
0.025
0.020
0.015
0.010
40 60
d
1.0
0.8
0.6
0.4
0.2
page 1
0.0 . .
0.0 0.4 0.6 0.8




page 2

LfA: model est vs obsOv@Q50

0.040 A

0.035 A

0.030 A

0.025 A

0.020 A

0.015 A

— Q50
® est

15.0

17.5 20.0 22.5 25.0 27.5 30.0
age

32.5

35.0




DeltaTypeAbbr=GrpByAge

P10AE LfA: D_5d LfA
DeltaTypeAbbr=GrpByDay

3019 L | —4— pcrDelta_avg
20 - P B— pcrDeltaAd]_avg
/ 40 T ]
10 A
O R .
20
-10 T »:«\ |
207 —— pcrDelta_avg 0 I N A }m '
3041 pcrDeltaAdj_avg [ I '
15 20 25 30 35 20 30 40 50 60
d d

page 3

DeltaTypeAbbr=WeiAvgByD

50 - ' —4— pcrDelta_avg
T pcrDeltaAdj avg

40 A —
30 A
20 A
10 A \

O+ +——— e e e :}..,(__

20 30 40 50 60
d




DeltaTypeAbbr=GrpByAge

80 A

—4— pcrDelta_avg
pcrDeltaAdj_avg

25 30 35

P10AE LfA: D_15d_LfA
DeltaTypeAbbr=GrpByDay

150 A
100 A
—4— pcrDelta_avg
pcrDeltaAdj avg \
50 4 T
0 _________________________';_u_;_
20 30 40 50 60
d

page 4

DeltaTypeAbbr=WeiAvgByD

150 A L
100 A
—4— pcrDelta_avg
pcrDeltaAdj_avg
50
R e L e P
20 30 40 50 60
d




20

-20 -

DeltaTypeAbbr=GrpByAge
' —+—

pcrDelta_avg
pcrDeltaAdj avg

15 20 25 30 35

P10AE LfA: D_Q50 LfA
DeltaTypeAbbr=GrpByDay

0Ot++—————=-- P T
-20 A
-40 A
60 1+ —4— pcrDelta_avg
1 pcrDeltaAdj avg
20 30 40 50 60
d

page 5

DeltaTypeAbbr=WeiAvgByD

O e s~ s~ g€~~~ -~ g~ s -
-20 A
-40 -
60 4+ —4— pcrDelta_avg
pcrDeltaAdj avg
20 30 40 50 60
d




P10AE LfA: D_Est LfA
DeltaTypeAbbr=GrpByAge DeltaTypeAbbr=GrpByDay DeltaTypeAbbr=WeiAvgByD

—4— pcrDelta_avg )\
pcrDeltaAdj_avg | | 207 1 =1 201
|
() S ORI 1 ANICEONUON DUDIUIUTIES SOOI Yau page 6 () T AOUEIPONUNS W’ AVIUEONUNON OUDIUUIUIIOES EOIOEOU. U
-20 A 7 ] -20 A
40 14 —4— pcrDelta_avg 40 14 —4— pcrDelta_avg
| . pcrDeltaAdj avg . pcrDeltaAdj avg
15 20 25 30 35 20 30 40 50 60 20 30 40 50 60



page 7

LfA: sfDem

0.0 T T T T T T T T T
10 15 20 25 30 35 40 45 50







age=15
?7 —— avg
8_
7_
6_
5_
30 40 50 60
d
age=30
141 —t+ avg
12 1
10 A
30 40 50 60
d

NdD: avg vs. d at each age group
age=20

—+— avg
10 A
9_
8_
30 40 50 60
d
age=35
—+— avg
14 -
12 A
10 A
30 40 50 60
d

page 9

age=25
—+— avg
12 1
10 1
8_
20 30 40 50 60
d
age=40
—+— avg
14 1
12 1
10 1

35 40 45 50 55 60




page 10

NdD: model est vs obsOv@Q50

144~ 930
® est
12 ®
10 // ‘
8 /
6 '//
4 T T !
15 20 25 30 35 40

age




DeltaTypeAbbr=GrpByAge

P10AE NdD: D_5d NdD
DeltaTypeAbbr=GrpByDay

—4— pcrDelta_avg

10 1 pcrDeltaAdj avg

pcrDelta_avg
pcrDeltaAdj_avg

o e o e o e

15 20 25 30

page 11

DeltaTypeAbbr=WeiAvgByD

—4— pcrDelta_avg

pcrDeltaAdj avg




DeltaTypeAbbr=GrpByAge

30 A
20 A
10 A

-10 -
-20 -1

—4— pcrDelta_avg
[ pcrDeltaAdj_avg

-30 1

15 20 25 30 35 40

P10AE NdD: D_15d NdD
DeltaTypeAbbr=GrpByDay

100 A

80 A

60 -

40 A

20 A

——

pcrDelta_avg
pcrDeltaAdj_avg — | 4]

20

30 40
d

page 12

DeltaTypeAbbr=WeiAvgByD

100 A
80 -
60 A
40 A
20 A
—4— pcrDelta_avg
0T pcrDeltaAdj avg ~ ==~ " T TR
20 30 40 50 60
d




DeltaTypeAbbr=GrpByAge

P10AE NdD: D_Q50 NdD
DeltaTypeAbbr=GrpByDay

—4— pcrDelta_avg 107
20 & pcrDeltaAdj avg Of N
_10 _
10 A
_20 _
[ [ I ARSI SIS [ SO S -30 4
—4— pcrDelta_avg
-40 pcrDeltaAdj_avg
15 20 25 30 35 40 20 30 40 50 60

page 13

DeltaTypeAbbr=WeiAvgByD

10 A
R b e L L Lt
-10 1 T
-20 A
-30 A
—4— pcrDelta_avg
-40 - pcrDeltaAdj avg
20 30 40 50 60
d




DeltaTypeAbbr=GrpByAge

P10AE NdD: D_Est NdD
DeltaTypeAbbr=GrpByDay

60 -
50 A

40 -
30 -

20 A
10 A

——

pcrDelta_avg
pcrDeltaAdj_avg

80 -

60 -

40 A

20 A

——

pcrDelta_avg
pcrDeltaAdj avg

page 14

DeltaTypeAbbr=WeiAvgByD

80 A

60

40 A

20 A

——

pcrDelta_avg
pcrDeltaAdj avg




NdD: sfDem

2.0

—@— sfDem

page 15

0.0 T T T T T T T T T
10 15 20 25 30 35 40 45 50







page 17

dStH: avg vs. d

3.5 4 —+— avg
3.0 A
1
2.5 |
2.0 1
20 30 40 50 60




page 18

dStH: obsAvg vs obsOv@Q50

4.0

3.5 1

3.0 A

2.5 A

2.0 A

1.5

—— @50
—  est
® avg

20

50

60




dStH: D_5d_StH

30 —4— pcrDelta_avg

page 19

20 30 40 50 60



dStH: D_15d_StH

60 —4— pcrDelta_avg

page 20

20 30 40 50 60



page 21

dStH: D_Q50_StH

—4— pcrDelta_avg

20

30

50

60



page 22

dStH: D_Est_StH

504 —+— pcrDelta_avg

20 30 40 50 60



dStH: sfDem

2.0

1.5 1

1.0 A1

0.5 1

—@— sfDem

age 23
Pag9€ 0.0

10 20 30 40 50



15 -

page 24

40

- 20

-20

-40




page 25

organiD=TO01

FrV: FrO1 vs FrO5 at each truss

60 -

40 A

20 A

—— Fr0lavg
FrO5avg

20

22 24
organ/=T03

26

28 30

35 A
30 A
25 A
20 A
15 A
10 A

—— FrOlavg
FrO5avg

organiD=T02

120 ~

100 A

80 -

60 1

40 1

20 A

—— Fr0lavg
FrO5avg

16 18 20 22 24
organ/R=T04

26 28 30

7.5 1

7.0 1

6.5

6.0

5.5 1

5.0 -

FrO5avg
—}— Fr0lavg

14.2

144 146 14.8 15.0 15.2
age

154 156 15.8



FrV trend at each age

age=15
60 - —— FrOlavg
FrO5avg
50 A
40 A
30 A
20 A
10 A , I
0 - : T T T
TO1 T02 TO3 T04
organiD
age=25
100 A —— Fr0lavg
FrO5avg
80 -
60 -
40 A

TO1

TO2
organiD

TO3

age=20
80 7 —— Fr0lavg
FrO5avg
60 -
40
20 A
TO1l TO2 TO3
organiD
age=30
—— FrOlav
120 - 9
FrO5avg
100 A
80 A
60 -
40
TO1 TO2
organiD

page 26



FrV: model Est vs obsFrV at Q90

70 - FrO1_est
® Fr05 est

50 A

40 -
30 - l
20 A
10 -

page 27 16 18 20 22
age



FrV: obsFrV vs obsFrV@Q90

— 50 0
X FrOl1_avg
150 A
® Fr05 avg
x X
100 A %
. X
50 ‘ s 0 i
| ’ ‘_gi
page 28 0 - l/l—

16 18 20 22 24 26 28 30
age



FrV: D_Frl FrV

organiD=1

0.8 A

0.6

0.4 -

0.2 1

—4— dlavg
dlaavg

0.0 1

1.25 -
1.00 A
0.75 A
0.50 A
0.25 A
0.00 A
-0.25 A

—4— dlavg
dlaavg

age

organlD=2
—4— dlavg
0.8 - I dlaavg
0.6 7 \
0.4 !
0.2 - i
I
0 O o e T
16 18 20 22 24 26 28 30
orgaar&@=4
—&— dlavg
0.04 A
dlaavg
0.02 A
0.00 -1t ]
-0.02 A
-0.04 A
-0.04 -0.02 0.00 0.02 0.04
age

page 29



page 30

P10AE FrV: D_Frl_FrV

75 A
50 A

25 A

—

—4— pcrDelta_avg
—4— pcrDeltaAdj_avg

35

40

45 50

55 60




page 31

organiD=1

FrV: D _Ts_FrV

0.04 A

0.02 A

0.00 A

-0.02 A

-0.04 A

—0—

d2avg
d2aavg

-0.04 -0.02 0.00
orgadralp=3

0.00 A

-0.25 A

-0.50 A

-0.75 A

-1.00 A

-1.25 A

—4— d2avg
d2aavg

16 18 20
age

22

24

organlD=2
2.0 - —+— d2avg
d2aavg
1.5 A
1.0 A
0.5 -
00 +———F———
16 18 20 22 24 26 28 30
orgaatalED=4
0.5 A
—4— d2avg
d2aavg
0.0 = e et e e e e o e
-0.5 A
-1.0 A
142 144 146 148 150 152 154 15.6 15.8

age



page 32

P10AE FrV: D_Ts_FrV

1500 A
1250 ~
1000 ~
750 A
500 A

250 A

—4— pcrDelta_avg
—+— pcrDeltaAdj_avg




page 33

FrV: D_Q50_FrV

organiD=1

0.0 Fmm
-0.111 |
-0.2 1

-0.3 A

-0.5 1 d3aavg

16 18 20 22 24 26 28 30

| —4— d3avg

16 18 20 22 24
age

organlD=2

1.50 A
1.25 -
1.00 A
0.75 A
0.50 A
0.25 -

0.00 A

—4— d3avg

d3aavg

0.0 A

-0.2 1

-0.4 -

-0.6 A

—4— d3avg
d3aavg

1

42 144 14.6

14.8

15.0 15.2 154
age

15.6 15.8



page 34

P10AE FrV: D_Q50_FrV

150 A

100 A

50 A1

—4— pcrDelta_avg
—4— pcrDeltaAdj avg

40



FrV: D_Est FrV

organiD=1 organlD=2

0.00 fF=——r————m T e e ] i —  ddavg
-0.25 A 0.4 L/ d4aavg
-0.50 - , — ,

! [ 0.2 11 i
-0.75 - I '
-1.00 A 0.0 +=—r————————r——— = gt —
1.25 4 —4— ddavg
d4aavg 0.2 !
'1-50 T T T T T T T T T T T T T T T T
16 18 20 22 %? 26 28 30 16 18 20 22 %f 26 28 30
page 35 g%@ gaa@@

O € e e O O e e o e R e

-0.2
| -0.5

-0.4

-0.6 -1.0 1

-0.8 s

—4— ddavg -1.5 4 —$— ddavg
-1.0 - d4aavg d4aavg
16 18 20 22 24 142 144 146 148 150 15.2 154 156 15.8

age age



P10AE FrV: D_Est_FrV

100
—4— pcrDelta_avg

80 7 pcrDeltaAdj avg

60
40 -
20 A
page 36 O e e ————————————————————————— e T T
-20 A
-40 4

50 52 54 56 58 60



P10AE FrV: sfDem

2.00

—@— sfDem

1.75 4
1.50
1.25 -
1.00 A
0.75 A

0.50 A
0.25 A

37
page 0.00 . | . : : .
40 42 44 46 48 50



35 -

37 -

39 -

41 -

43 -

45 -

47 -

49 -

51

53

55 -

57 -

59 -
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